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	NAME :
	


	QUESTION
	SC

	Please decode the following image, encoded as a quadtree as defined in the lab-assignment :

4-256-256-0-255-0-0-255-127-256-0-0-255-0
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	Encode the following image as a quadtree as defined in the lab-assignment :
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	A binary search tree is always

- complete

- full

- built in an order such that all subtrees are binary search trees

- built in an order such that all subtrees are heaps

- empty
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	A heap is always

- complete

- full

- built in an order such that all subtrees are binary search trees

- empty


	2


